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QUESTION 1

Click the Exhibit button.

Supported cables for X1144A
Ethernet 10/40 Gbps (CU) Ethernet 10/40 Gbps [CU)

Mktg Part No Mfg Part No Images Lengthv End1 End 2 Description

[=] Copper Cables

XQSFP-45FP10G-CUSM 112-00603 = 5m QSFP+ 4xSFP+ Cable,Cu,QSFP+/4xSFP+ 40GbE,
XQSFP-H40G-CUSM-R6 112-00605 = 5m QSFP+ QSFP+ Cable Cu,QSFP+/QSFP+ 40GbE,!
X66100-5 112-00544 = 5m QSFP+ QOSFP+ Cable,Cu,40GbE QSFP+/QSFP+ !
X66120-5 112-00546 5 S5m QSFP+ AxSFP4 Cable,Cu,40GbE,QSFP+/4xSFP+,
X66120-3 112-00545 2 3m QSFP+ 4xSFP+ Cable,Cu,40GbE,QSFP+/4xSFP+,
A66100-3 112-00543 = 3m QSFP+ QSFP+ Cable,Cu,40GbE QSFP+/QSFP+,;:
XQSFP-H40G-CU3M-R6 112-00604 = 3m QSFP+ QSFP+ Cable Cu,QSFP+/Q5FP+ 40GbE,:
XQSFP-45FP10G-CU3M 112-00602 = 3m QSFP+ 4xSFP+ Cable,Cu,QSFP+/4¥SFP+ 40GDbE,
X66100-1 112-00542 = im QSFP+ QSFP+ Cable,Cu,40GbE,QSFP+/QSFP+,’
XQSFP-H40G-CUTM-R6 112-00307 £ m QSFP+ QSFP+ Cable,Cu,QSFP+/QSFP+ 40GbE,

A customer has two Cisco 40GbE data switches. They want to connect the switches to an AFF A400 HA pair. The
switches and the AFF A400 are approximately seven meters apart.

Referring to the exhibit, which two supported actions would allow you to accomplish this task? (Choose two.)
A. Relocate the switches or the AFF A400 so that the distance is less than five meters.

B. Install 10 meter NetApp supported copper cables.

C. Change the requirement for Ethernet cables.

D. Change the requirement for optical cables.

Correct Answer: BC

QUESTION 2

You are installing a new ONTAP 9.7 cluster and attaching the cluster to two separate networks. Your customer has
indicated that the same range of client IP addresses are used on both networks and that the networks are never allowed
to communicate with each other.

In this scenario, which ONTAP feature must be configured to securely allow all clients to access ONTAP NAS
protocols?

A. BGP

B. broadcast domains
C. routing

D. IPspaces

Correct Answer: B
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Reference: https://www.netapp.com/media/16885-tr-4182.pdf (9)

QUESTION 3

You use the system health subsystem show command to troubleshoot your newly installed ONTAP cluster.
In this scenario, which two health outputs would this command show you? (Choose two.)

A. data switch cabling

B. cluster switch cabling

C. shelf connectivity

D. node CPU utilization

Correct Answer: CD

Reference: https://www.doc-developpement-durable.org/file/Projets-informatiques/cours-and-
manuelsinformatiques/Netapp/Data%200NTAP%208.0%207-Mode%20System%20Administration%20Guide.pdf

QUESTION 4

Your customer wants a newly installed AFF C190 cluster to send SNMP noatifications to a trap host called
OVERWATCHO1.

In this scenario, which two statements are correct? (Choose two.)
A. Configure an SNMP community string on the cluster.

B. Configure DNS on the cluster.

C. Configure a trap host on the cluster.

D. Configure a firewall policy and allow SNMP.

Correct Answer: BC

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-nmg%2FGUID525CBCFB-
E855-4FE6-B975-0AB69F499110.html

QUESTION 5

Before installing an 8-node cluster for a customer, you want to validate compatibility with existing hardware.
Which two tools would you use to validate the configuration? (Choose two.)

A. Active 1Q Config Advisor

B. Interoperability Matrix Tool
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C. Active 1Q System Manager
D. Hardware Universe

Correct Answer: AB
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